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Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897922
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following displays programs that are currently running in Windows 10 OS?
Options :

1. ¥ Menu bar

2. %" Task bar

3. * Title bar

4. % Status bar

Question Number : 1 Question Id : 2549896497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafafea & 9 o9 1 a3 TR & UelRid HRd1 § S dd e § f[dSiW 10 3ivg & a8 32
Options :

1. % O] aR

2. & TP IR

3. % T3cd IR

4. % LI R

Question Number : 2 Question Id : 2549896883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a unit of memory in the computers?
Options :

1. * Megabyte (MB)

2. % Gigabyte (GB)

3. % Nato byte (NB)

4. % Byte

Question Number : 2 Question Id : 2549896883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e § QB ) SegeR # ugad AR BT U 0T 181 87

Options :
|. # TTETSE (MB)
2. # TTETSe (GB)
3. & FICIaTSe (NB)
4. % §13c

Question Number : 3 Question Id : 2549896885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a type of RAM?
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Options :

1. % SRAM (Static RAM)

2. % Prime RAM

3. ¥ DDR RAM (Double Data Rate RAM)
4. ¥ SDRAM (Synchronous Dynamic RAM)

Question Number : 3 Question Id : 2549896885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

9 & ¥ S It TP THR Bt RAM el 82
Options :

1. ® SRAM (Rfes ¥H)

2. % UISH RAM

3. % DDR RAM (S§d ST 3¢ 3H)

4. % SDRAM (Rih I ST ¥9)

Question Number : 4 Question Id : 2549897535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which keyboard shortcut is used to delete the text to the beginning of the word in an Open Office writer?

Options :

1. ¥ Backspace

2. ® Ctrl + Alt + Backspace

3.« Ctrl + Backspace

4. ® Shift + Backspace

Question Number : 4 Question Id : 2549897535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

31 SHifth¥ IR (OpenOffice writer) H, fHdT Weg B Y[HSHTT F Te P fSelie T & faw F9 & I fog #l-a1S 2icame &1
JUTNT foh T ST 82

Options :

1. * Backspace

2. ® Ctrl + Alt + Backspace
3.« Ctrl + Backspace

4. % Shift + Backspace

Question Number : 5 Question Id : 2549897580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
is a volatile memory.
Options :
1. ¥ RAM
2. ¥ ROM
3. # EEPROM
4. ¥ EPROM

Question Number : 5 Question Id : 2549897580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

9 & A &1 4 U Iaardt AHRl &
Options :

1. ¥ RAM

2. 8 ROM

3. ¥ EEPROM

4. % EPROM

Question Number : 6 Question Id : 2549898470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following functions converts text to number in a locale independent manner in Microsoft Excel 2019?

Options :

1. # LOCLEVALUE function

2. ¥ TEXTVALUE function

3. # NUMTEXTVALUE function

4. " NUMBERVALUE function

Question Number : 6 Question Id : 2549898470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 ﬁ, S I harH frd RIFY Wdd dld I TR I a&@ﬁw%?
Options :

1. % LOCLEVALUE BhaRH

2. % TEXTVALUE HhaRMH

3. % NUMTEXTVALUE o=

4. % NUMBERVALUE BhaRH

Question Number : 7 Question Id : 2549898812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An input device that allows a user to input data into a computer system by speaking to it is known as

Options :

1. % Microphone

2. & Mouse

3. # Projector

4. ¥ Scanner

Question Number : 7 Question Id : 2549898812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

9 & 9 98 3Yc fEarsy o9 1t § foraes gR1 siaa duer Ried # a1 39Ye faran S davar 82

Options :

1. « HIZhIBH
2. B H3Y

3. ® YleiaeR
4. % WHR
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Question Number : 8 Question Id : 2549899353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following devices is used for translating information from the computer into pictorial form on a paper?

Options :

1. * Light pen

2. % Keyboard

3. % Plotter

4. * Touch panel

Question Number : 8 Question Id : 2549899353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ot TTHTHRA &l FHR ¥ TR W EEs U § uRkafdd w34 & fore o 3 9 fog fSaga &1 Suah faar smarg 2
Options :

1. & @gc Uq

2. % PGS

3.« Wi

4. % YU

Question Number : 9 Question Id : 25498911744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

CD s a(n) type of data storage.

Options :

1. = optical

2. % electrical

3. % mechanical

4. % magnetic

Question Number : 9 Question Id : 25498911744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

<t (D), YR P Sl TR 5 |
Options :

1. & 3MPHd

2. # dfdcdha

3. % Oped

4. % few

Question Number : 10 Question Id : 25498922521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The full form of ISP is

Options :

1. * Intranet Service Provider

2. * Internet System Provider

3. % Internet Service Provider
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4. % Internet Service Plan

Question Number : 10 Question Id : 25498922521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ISP &1 JUiey a1 82

Options :
1. ¥ Intranet Service Provider (éng gfdg PICIEISES)

2. # Internet System provider (3 e Riew EﬁﬂT"{E‘R}

3. % Internet Service provider (i';CQ"IC gfdg PICIEISES)

4. # Internet Service Plan (3¢ IfaY @)

Question Number : 11 Question Id : 25498929851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A barcode scanner eccentrically consists of three different parts, EXCLUDING:

Options :

1. #¥ The illumination system

2. " The virtual locking system

3. *# The sensor

4. ® The decoder

Question Number : 11 Question Id : 25498929851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T IRPIS LR H [IA&0r =7 J i SeT-3eT YT 8id &, R
Options :

1. * SR R

2. « GY37d qAlfhT Red

3, & IW

4. & fgHIST

Question Number : 12 Question Id : 25498930385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

In a Blue Ray Disc, Spacer-Layer thickness must be higher than to avoid deterioration of the readout signal caused by the optical
crosstalk from adjacent layers.

Options :

1. % 6 um
2. % 10 um
3. % 5um
4. % 9 um

Question Number : 12 Question Id : 25498930385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

X &% H, 3d wdl ¥ SHPHd Hid el & HRUI TSI Rid 3t AR1ae I 99+ & oY WR-aaR &1 diers q
3{Te gl ATl

Options :
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1. % 6 um
2. % 10 um
3. % 5um
4. % 9um

Question Number : 13 Question Id : 25498930889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
refers to the learning with the use of technology that enables people to learn anytime or anywhere.
Options :
1. % E-learning
2. ¥ Email
3. # E-commerce

4. ® E-banking

Question Number : 13 Question Id : 25498930889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TRNTT! & IUANT § WRa DI Y& Hd H=a1 g & ARl 1 Haft off a1 et ot e o gam S rar 3
Options :
1.« E—FI'EPT (E-Learning)
2. # T (B-Mail)
3. % THMAY (E-Commerce)
4. % 3&fHT (E-Banking)

Question Number : 14 Question Id : 25498930980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following molecules are usually composed in thermotropic liquid crystals?

Options :

1. # Oval molecules

2. ® Circular molecules

3. % Rod like molecules

4. ¥ Water molecules

Question Number : 14 Question Id : 25498930980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fAafoiRaa & @ &9 91 3] SR WR YHleINS aRd fheed H &1 giaT 82
Options :

1. % 3STHR Y[ (Oval molecules)

2. #® gdlPR A (Circular molecules)

3. %' B8 P IBHR & 31U (Rod like molecules)

4. ® ST U] (Water molecules)

Question Number : 15 Question Id : 25498931003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following is hexcode of command to 16 x 2 LCD instruction register to use '2 lines and 5 x 7 matrix'?
Options :

1. % 0x38

2. % 0x18

3. % 0x14

4. % 0x80

Question Number : 15 Question Id : 25498931003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

" ATE 3R 5 x 7 AR BT ITANT HRA P foTT 16 x 2 TAATST SR IR & HHIS 1 3R i Fufefad B A p a1 e
Options :
1. # 0x38
2. % 0x18
3. % 0x14
4. % 0x80

Question Number : 16 Question Id : 2549898920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following protocols working on the Transport layer provides a connectionless service between hosts?

Options :

1. # 1P

2. % ARP

3. % TCP

4. ¥ UDP

Question Number : 16 Question Id : 2549898920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SIIUIE TR R SRR 98 HIF T U1 § Sl gk & &g Udh H-1a-I Igd Jal YaH &l 82
Options :

]. % 1p

2. # ARP

3. ® TCP

4. % UDP

Question Number : 17 Question Id : 2549899514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What will you do when print head CANNOT travel its full horizontal distance?

Options :

1. * Install correct drivers

2. % Open the cover and make sure there is nothing obstructing the movement of the print head

3. * install ink cartridge

4. % Clear the clogged ink cartridge

Question Number : 17 Question Id : 2549899514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

gfe fiie 38 o=t gui &fas gt 99 8l R U1 3@ 8, dl 319 &1 B2

Options :

1. # Tg! SrEaR |TUT By

2.« SR WA 3R AT B b Bic gs p A A s sen 61§
3. % 3P PIfcol 3Id B

4. % TSG 5P DICol DI ATH HRAT

Question Number : 18 Question Id : 2549899526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

If you try to print a high-quality photo and use plain paper setting, then the printout is:
Options :

1. % smeared/messy

2. % normal

3. % colourful

4. ® high quality

Question Number : 18 Question Id : 2549899526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g ST I=-TUaTT aTeht Wie! fiie B &7 T $Rd g dfdh ST WiH TR [T &1 IuaiT fhan §, at urd fiiesmae o g

Options :

1. « 3RQY / Tal

2. ® g

3. # Wi

4. % 3= TUTGT dTell

Question Number : 19 Question Id : 25498910937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following options of Windows 11 settings is used to connect a wireless printer?

Options :

1. %" Bluetooth & devices

2. ® Network and internet

3. *# Privacy & Security

4. ¥ Personalization

Question Number : 19 Question Id : 25498910937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IR flier B pae B & forw foeiw 1 Afd & Fufeifaa 7 2 f59 faeey o1 Iuan fear siar g2

Options :

1.+ &gy TS feaay
2. % J9¢ad TS FeRC

3. # Trgad Ue Rieieet
4. % OGATATSOIRM
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Question Number : 20 Question Id : 25498911140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Saina has purchased an Apple phone. Which of the following operating systems is likely to be installed on her phone?

Options :

1. * Android

2. % Windows

3. % 10S

4. * Blackberry OS

Question Number : 20 Question Id : 25498911140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IS = T T BH @R1aT| 39 B H Fafifead & 3 o1 91 SHTuRfe Rier $rd g1 &1 HHTa1 g2
Options :

1. * Android

2. % Windows

3. % i0S

4. % Blackberry OS

Question Number : 21 Question Id : 25498911278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Amplitude Modulation, generally, the modulation index is always one.

Options :

1. * greater than or equal to

2. % greater than

3. % equal to

4. % less than

Question Number : 21 Question Id : 25498911278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TEe s ATgaRH H, IR dR IR AR S g us  grargl
Options :

1. % ¥ i YT RIS

2. % 9 YD

3. % P IRIR

4, I HY

Question Number : 22 Question Id : 25498913858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following property of DES makes cipher very strong?

Options :

1. % Avalanche effect, completeness

2. % Avalanche effect, incompleteness

3. % Newton effect, completeness
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4. % Newton effect, incompleteness

Question Number : 22 Question Id : 25498913858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

DES &1 fAgfafad & & & 91 7701 R &1 9gd Holgd a-1d1 82
Options :

1. «" 3faTelie YT, qotar

2. % 3ATel™ YHTd, SqufdT

3. ® e YT, quidr

4. % e TG, 3quidl

Question Number : 23 Question Id : 25498918552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which of the following OS intallation, the hard disk is formatted and completely erased?

Options :

1. % Clean Install

2. * In-Place Upgrade

3. ¥ Repair Install

4. ¥ Unrepair install

Question Number : 23 Question Id : 25498918552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

faferiaa 7 ¥ fy os Sxfaz@ #, 878 fow &1 wite far 9T § iR gft ave & fier fear smar g2
Options :

1. « gel s eid

2. ® AT TUS

3. & RUR sTReid

4. % IFARNUR €I

Question Number : 24 Question Id : 25498920750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Which of the following is a device that connects two or more packet-switched networks or subnetworks?

Options :

1. % Router

2. * Firewalls

3. % Switches

4. % Repeater

Question Number : 24 Question Id : 25498920750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fFafeiad # ¥ &9 91 IuHur g S &l a1 &) 31 Udbe-fws Aead Il ga-cdd Pl sisdl 82
Options :
1. & qFe
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2. # BRRGrd
3. % figg
4, & ?d'a?

Question Number : 25 Question Id : 25498924309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of sequential file access method?

Options :

1. ¥ accessing randomly relative to the current position of the file pointer

2. ® using index to access the file directly.

3. %" accessing one record right after another record in an order

4. ® reading and writing record rapidly in no particular order

Question Number : 25 Question Id : 25498924309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g H ¥ o 91 v R R hed TeiY YUt BT G180 82

Options :

1. % TEd e Bl aan R b A0 Arefassd FU A gga
2. % BHd db Y UgaH & [ SSa BT SUTRT Bl

3. ' U HH H U RIS & 3l a1e g8 RbIS deb Ugar

4. % T 3R forar fomr forlt faRiw o & doit A Repl's grar e

Question Number : 26 Question Id : 25498924500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ISO is a file format of

Options :

1. #¥ disk files

2. " disc image files

3. # video files

4. ® audio files

Question Number : 26 Question Id : 25498924500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SO P HIsd BIHC ol
Options :

1. % f& wgda

2.« &% ST BIgd

3. & Jifs wrsd

4. ® TSI B

Question Number : 27 Question Id : 25498924604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

file has SWF file format.
Options :
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1. ¥ Microsoft Encarta Document
2. %" Adobe Flash Movie file

3. #® Microsoft Office Document
4. % Image File

Question Number : 27 Question Id : 25498924604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

9 o 9 f5g BId &1 Bide SWF gl 82
Options :

1. % AIEHINIUE TdhIel SIagHc

2. « T3S WIRl gdl Brgd

3. # AZHIYGIUT 3y SVIERQ?IE

4. % 3OS HIEd

Question Number : 28 Question Id : 25498925172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The gzip method implements a public domain variation of:

Options :

1. * run length codes

2. ® Huffman codes

3. %" Lempel-Ziv algorithm

4. ® dynamic Huffman codes

Question Number : 28 Question Id : 25498925172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gzip A & g O 19 grdwif~e SoF fafayar arp gt 82
Options :

1. # FATY DIgY

2. % B HIgY

3. « THUA-forg TaETiRed

4. % SIAIHS §HHA blgd

Question Number : 29 Question Id : 25498938508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
operating system runs on a set of computers that are interconnected by a network.
Options :
1. #¥ Stand alone
2. % Distributed
3. ® Off-line
4. ¥ Batch processing

Question Number : 29 Question Id : 25498938508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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HTRFT ReH, FER & 3T e WR Idd g Sl U Hedd gRT 09 H I3 gUad & |
Options :
1. % ¥3 3@
2. fSReecs
3. % 3fthargd
4. % o9 YRR

Question Number : 30 Question Id : 25498940417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel, a formula should always be preceded by a/an sign.

Options :

[

2.9 =

3. & x

4, % ¢

Question Number : 30 Question Id : 25498940417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel H, fonait tﬁqﬁ & Ugd g ERERIEIRY

Options :
S
2.9 =
R

4, % #

Question Number : 31 Question Id : 2549896764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is World Wide Web?

Options :

1. ¥ It is a series of webpages that are typically accessed through a web browser and are hosted on a web server

2. #® It refers to the Web browser in the user's machine or mobile device.

3. %" A collection of websites or webpages stored in web servers and connected to local computers through the internet

4. ® It is a software application used to retrieve data from webpages

Question Number : 31 Question Id : 2549896764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

It A1SS 99 1 §?

Options :

1. # g UGl & Ueh 4T § ST 3T IR IR TS 99 FII9R P AT I Taty &1 il § 3R Th 99 JaX |R GRS D1 offll g
2. % g IUANTHA! B! AL 1 M1z fSarsy 7 99 SI3R &I Yehid Harg

3.« 99 IR T YUGI 3R Fexc & ATe0H I MG HeRl 9§ Il dadrsel a1 dquel & Ud TUg

4. % Ug TP P dmR URIH I § ForiesT SN datel ¥ et YUl - & ford farar sirar g
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Question Number : 32 Question Id : 2549899066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

transactions refer to situations where payment is done over the network and the amount gets transferred from one financial body
to another financial body without any involvement of a middleman.

Options :

1. % E-money
2. % E-bay

3. % E-biz

4. % E-plan

Question Number : 32 Question Id : 2549899066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e, 39 FRURY ) el wdr & s Yo T Aead TR fbar o § 3k i v fa<iia e @ et s faci
T IR frdt Hery &t Yrflert & A1 & RimiaRd 8 S 21

Options :
1.« S
2. %39
3. # g for
4. % 3H

Question Number : 33 Question Id : 2549899135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The extensions .gov, .edu and .net are called:

Options :

1. = domain names

2. % mail to addresses

3. % email targets

4. * recipient's name

Question Number : 33 Question Id : 2549899135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gov, .edu 3R .net YT T HEAd &2

Options :

1.« A& A

2. # AA & faQ Ugw
3. # 3.0d Thlcy

4. % Uil & A

Question Number : 34 Question Id : 25498911068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What do you understand by font family in Windows?

Options :

1. ¥ It is a characteristic of a font and its style.

2. %" It is a set of fonts that have a common design
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3. # Itis defined in points which are often equal to pixels on computer display.

4. ® Tt is sets of numbers, punctuation and letters.

Question Number : 34 Question Id : 25498911068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fdSrer & wie uRaR ¥ 3y 1 T 87

Options :

1. % Tg forat thlwe 3R 39! Aol &1 Teh faRwar g

2. + T8 BT<H BT U ¢ & s Ue I feems gidr 8

3. % 3 37 figait & wu o uRiia farar ST § S S/ FgeR fevat & faa & SRR gl ©
4, % gg Jeeh, favm gl seki d1de @

Question Number : 35 Question Id : 25498911870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid slide layout in MS-PowerPoint 2019?

Options :

1. * Title Slide

2. ¥ Title and Content

3. ¥ Section Header

4. % Paragraph Header

Question Number : 35 Question Id : 25498911870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fRgfeRad # @ B MS-PowerPoint 2019 H T 3fers WSS A3MT3C T8l 82
Options :

1. % TI3cd WIS

2. # TI3Cd U8 dee

3. % Y g

4. « TRTITH g8

Question Number : 36 Question Id : 25498911903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
is the number system that we use on a daily basis based on the 10 digits.
Options :
1. ¥ binary
2. % decimal
3. ® octal

4. ® hexadecimal

Question Number : 36 Question Id : 25498911903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g U1 YUTTel) & FOrRIehT STANT 84 10 3/ & 3TYR W b 3MUR TR H3d &

Options :
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1. ® fgerdt

2. « GRIHAd

3. % 3EYR

4. % VST YRY

Question Number : 37 Question Id : 25498911947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The binary equivalent of the decimal number '31' is

Options :

1.« 11111

2. % 11011

3. % 11110

4. = 10111

Question Number : 37 Question Id : 25498911947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SR TRSAT 131" DT TR THJed T I
Options :

1. 11111

2. % 11011

3. % 11110

4. % 10111

Question Number : 38 Question Id : 25498924647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which keyboard shortcut will you use to convert your text to BOLD in MS-Word 2019?

Options :

1. % ALT+B

2. ¥ Ctrl + Shift + B

3. % Shift + F3

4. % Cul+B

Question Number : 38 Question Id : 25498924647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 T 309 ¢Re &I BOLD H Sga- & fold 317 ford HIaIS icdhe BT YN Bl
Options :

. % ALT+B

2. % Ctrl + Shift + B

3. #® Shift + F3

4. % Ctrl + B

Question Number : 39 Question Id : 25498924662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The base of the Hexa Decimal number system is
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Options :
1. %16
2. % 11
3.% 12
4. %13

Question Number : 39 Question Id : 25498924662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SR SIHAG TS Ugfa B MR I-AT T 32
Options :

1.+ 16

2. %11

3. # 12

4. % 13

Question Number : 40 Question Id : 25498924671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In the given number (8);¢, 10 is the of the number system.

Options :

1. % base

2. % power

3. % exponent

4. % cube

Question Number : 40 Question Id : 25498924671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

& TS /AT (8), H, 10 TSAT FOTTEH & gl
Options :

1. " Base (Gﬂm

2. % Power (‘JTHT&DF%

3. ¥ Exponent (<X ‘ammﬁ)

4. % Cube (YU9)

Question Number : 41 Question Id : 25498925213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following represents the binary number system?

Options :

1. % (1)
2.4 (11),
3. % (1)
4. % (11)4
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Question Number : 41 Question Id : 25498925213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e 7 31 9 e J1s G gt 9 Heifdd g2
Options :

L% (1)

2. % (11),

3. B (11)g

4. % (11)14

Question Number : 42 Question Id : 25498925279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

WAN stands for:

Options :

1. ¥ Web Area Network

2. % World Area Network

3. % Wide Area Network

4. ® Worst Area Network

Question Number : 42 Question Id : 25498925279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

WAN &1 quiey a1 82

Options :

1. ® Web Area Network (38 TRUT Heddh)

2. * World Area Network (9GS URAT Acdds)
3. & Wide Area Network (dIgS Qﬁ'ﬁﬂ -ICOIOICO)

4. % Worst Area Network (G% TR 7cde)

Question Number : 43 Question Id : 25498938396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The purpose of is to transform a URL into a normalized or canonical URL so it is possible to determine if two
syntactically different URLs are equivalent.
Options :

1. % URL normalization
2. ¥ URL support

3. # URL balancing

4. ¥ URL modification

Question Number : 43 Question Id : 25498938396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BT Ie=A TP YIRUA B JHRIH AT BAlHD JIHRTA H a1 g dlich Ig HuiRd S HHa 81 fb &
TRITHS &0 Y T GARTA THGE & a1 8] |
Options :

1.« URL IMHRHI0T
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2. % URL Iudq

3. % URL HdeH
4. % URL I=NeF

Question Number : 44 Question Id : 25498941576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The binary equivalent of the decimal number 3 is

Options :

1. ¥ 101

2. %110

3. % 111

4. % 011

Question Number : 44 Question Id : 25498941576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

GRITA ST 3 BT ATS-RT U™ T R
Options :
1. # 101
2. # 110
3% 111
4. %011

Question Number : 45 Question Id : 25498941580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The octal equivalent of the binary number 1001 is

Options :

1. % 15

2. % 11

3.% 10

4. % 8§

Question Number : 45 Question Id : 25498941580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

aﬁqﬁ T=AT 1001 BT SAPTYRY HHJY (octal equivalent) T BRI
Options :

1. # 15

2. % 11

3. %10

4, ® 8

Question Number : 46 Question Id : 25498941594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the hardware in a computing device where the operating system, application programs and data in current use
are kept so they can be quickly reached by the device's processor?
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Options :

1. ¥ RAM

2. % CD-ROM
3. * Flash Drive
4. ¥ Hard Disk

Question Number : 46 Question Id : 25498941594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafied & ¥ o1 91 U6 e fEarsy &1 gTSaaR & oTel SHTRfT Ried, Tt Ui iR aad™ SUanT § o a1d Sel
DI TG I § s 3 dh fSagy & TR gRT STea! § UgdT S ab?

Options :

1. ¥ RAM

2. ¥ CD-ROM

3. % I BZd
4. % gIs fowp

Question Number : 47 Question Id : 25498941600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The decimal equivalent of the binary number '11011" is

Options :

1. % 23

2. % 25

3.9 27

4. %29

Question Number : 47 Question Id : 25498941600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ISR TBAT'11011' BT GIHAT FHI T BRI
Options :

1. %23

2. # 25

3. %27

4. %29

Question Number : 48 Question Id : 25498941619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :
is the shortcut key to apply a filter in MS-Excel 2019.
Options :
1.« Ctrl + Shift + L
2. % Ctrl + Shift + C
3. ¥ Ctrl + Shift + K
4. % Ctrl + Shift + M

Question Number : 48 Question Id : 25498941619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 5, fiheex @M & fore {6 o191 2iddhe &1 Iudi fpar s gl
Options :

1. « Ctrl + Shift + L

2. ® Ctrl + Shift+ C

3. ® Ctrl + Shift + K

4. ® Ctrl + Shift + M

Question Number : 49 Question Id : 25498941621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, the Field List option should appear when you click anywhere in the table.
Options :

1. # Data

2. ® Reference

3. %" Pivot

4. ¥ Quick

Question Number : 49 Question Id : 25498941621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 H, Sd 310 dTfereT & dal ot foad ad € ol ics qd! fdded fe@ms g1 arfgul
Options :

1. # 3T

2. ® M
3.« fUdle
4. % fobp

Question Number : 50 Question Id : 25498941625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of email address?

Options :

1. ¥ http://vianet.com/index.htm

2. % D:\\Email\Standard

3. % joesmart@billme.com

4. ® Chaminade.org/teachers/mail addresses

Question Number : 50 Question Id : 25498941625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

9 & 9 HH SHA T BT ISER0 82

Options :

1. *® http://vianet.com/index.htm
2. # D:\\Email\Standard

3. % joesmart@billme.com

4. ® Chaminade.org/teachers/mail addresses
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Question Number : 51 Question Id : 25498941641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of steps required to remove duplicate values in Microsoft Excel 2019.
Options :

1. % Go to the Data tab -> in data Tools group -> Click on Remove Duplicates

2. ® Go to the Insert tab -> Click on Conditional Formatting -> Under Highlight Cells Rules click on Duplicate Values
3. ¥ Go to the Design tab -> Click on Conditional Formatting -> Under Highlight Cells Rules click on Duplicate Values
4. % Go to the File tab -> Click on Conditional Formatting -> Under Highlight Cells Rules click on Duplicate Values

Question Number : 51 Question Id : 25498941641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 H, f@dre Al &1 g & AT 31a=de @Rl & gl hH DI UgaH BT

Options :

1. ' 3¢ ¢d W I¢ -> el ¢ JU # -> Na gfwiorcy W faas &<

2. % 3hE G WY > I BIHH IR i BY -> gIgdize Ao e & 3idifd giRibe Iedel R faid B3
3. % OO 29 WO > SrSterel BT IR s 3¢ -> grRaise Ied & ¥ siaid ginre I w e &%
4. % BT3A o TR O -> H I BT 4T IR fates B3 > BIEaIse & e P 3faiid girhe degsl WR o B

Question Number : 52 Question Id : 25498941645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, the pivot table error ‘field name is not valid’ usually appears because
Options :

1. *¥ one or more row heading cells in the source data are blank

2. %" one or more of the column heading cells in the source data is blank

3. # one or more column cells in the source data are blank

4. ¥ the worksheet with the pivot table is full

Question Number : 52 Question Id : 25498941645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 ﬁ, fUgle e WX “field name is not valid’ HIHId: g ST 31t %?
Options :

1. ® IId (Source) ST H TH T 3 Ufdd (Row) XMW FHef (Heading Cell) e gl
2.« Id (Source) ST H TH T 3D Y M Hef (Column Heading Cell) R gl
3. % g (Source) k| Uh g1 3feH TIH D& (Column Cell) Raa %I

4. # Rrqe 2o T aheie 1 g )

READING COMPREHENSION

Section Id : 2549897882
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1
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Section Marks : 5

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897923
Question Shuffling Allowed : No

Question Id : 25498921283 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

A young German workman came to Amsterdam. He went around the city and was deeply impressed by its beautiful buildings, ships and
busy people. He saw a large house more beautiful than any he had ever seen. For a long time he gazed at it in astonishment, its six
chimneys and its tall windows looked awesome. Finally, he asked a passer-by, “Could you please tell me the name of the gentleman who
owns this beautiful house?” But the man, who had more important matters to attend to, and who did not understand German, replied
‘Kannitverstan’ and went away. (This is a Dutch word which means “I cannot understand you.”) *"He must have been an awfully rich
man, this Mr. Kannitverstan,” our hero thought.

Walking through the streets of the town he came to the harbor. There were many ships there. His attention was caught by a large ship
which was being unloaded. Barrels full of sugar, coffee, rice and pepper were being rolled out. When he had watched for a long time, he
asked a man for the name of the man for whom the ship had brought all these goods. “Kannitverstan” was the reply. At this he thought,
“Aha, so that's how he can afford such a wonderful and amazing house.”

So he went away sorrowfully thinking how poor a man he was among so many rich people in this world. Just then, he turned a corner and
saw a long funeral procession. Four horses were pulling a black coffin box. A large number of people followed silently. Our hero stood
there in respect with his hat in his hands until they had all passed by. Then, he went up to the last man in the procession and said, “That
must have been a good friend of yours,” he said, “Who was he?”” “Kannitverstan!?”” came the reply.

He felt sad and relieved at once. “Poor Kannitverstan,” he exclaimed to himself, “What do you get from all your wealth now? I will get
the same from my poverty: a shroud and a sheet!”” With these thoughts in mind, he accompanied the procession to the grave. He saw the
supposed Mr. Kannitverstan being lowered to his final resting place.

Sub questions

Question Number : 53 Question Id : 25498921284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who was Kannitverstan?

Options :

1. * A rich merchant

2. % A Dutchman

3. % The man who died

4. % Nobody

Question Number : 54 Question Id : 25498921285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Whom does the term ‘our hero’ used in the passage refer to?

Options :

1. * Kannitverstan

2. % The passer-by

3. % The German traveler

4. % The man who died
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Question Number : 55 Question Id : 25498921286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When the traveler understood that the goods from the ship belonged to Kannitverstan, he was:

Options :

1. %" sad at his own poverty

2. % amazed at the goods

3. * astonished to see the ship

4. * happy with the man’s riches

Question Number : 56 Question Id : 25498921287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When he discovered that Kannitverstan had died, the man was sad because:

Options :

1. ¥ a very rich man had died

2. % alarge crowd walked silently

3. % his wealth was of no use to him now

4. * his body was in a black coffin box

Question Number : 57 Question Id : 25498921288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following options does NOT complete the given statement correctly?

After seeing the coffin, the traveler felt relieved because he understood that:
Options :

1. * there is no use of wealth after death

2. * in death a poor man also gets only a sheet

3. * death does not distinguish between the rich and the poor

4. % only the rich go to heaven

Question Id : 25498921283 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

faT 7T TR Y U 3R I SMYR R Ul & IR < |

TP Al STH HRIR TRESH 31171 98 T WX H AT 3R T8t &1 WaRRd ARG, STaTSl 3R oad Al o 1! gHIfad gaim | 3T
TH 99 U Y& IR B! 4T, a1 &R IR 39 Ugd HH 781 <91 UT| 98 I T8 o ddb U oadl 31| 39! &: mfat oik
dofl-diet Rasforat AMER o1 g1 AT | 3id & I agi I ToR X TP Al I YD1, "1 319 G 39 YR @R b AP HT A1
A1 gobd g2" Afcp g 3MeH! fhl 3R BTH Pt aoig T Slegamelt H UT 3R I oiH Ht 3is T T | Tt 3imait off, "pfaedwa
aﬁmﬁ%ﬂ%@awﬁw%w&rﬁ%"Wwaémﬁml")mwﬁm, voft HfFcaw 3Ty gl
agd ”

TER B! YS! IR YHA §U 98 S db Ugd 77| Igf B3 olgTol & | IT &1 U 98 SgTS] UR b1 3R 747 ForymR & e
JART ST ET AT | T, DI, TTae IR HIe [od F WX SR ITH § T o7 38 U1 98 U8 §8d o) 9P aH e 9l 38T R 394
I8 R U fdd A U1 fos STeTol © ST 1 6T I8 I W fhehT 82 STaTe iR § dhiaedwe- uT| 36 39 T 31 fas
"HACITE S YR TR BT HIfeh B &1

3o a8 U8 TR g8 IR el T 3 3 gfar H 3= IR 3R @il & ot a8 fra Tie et utl aaff, a8 U s o
3T 3R T el YT Gt | IR OYs U HIa d1ed &1 Wid 3 1 TS e & AN g 39 Uis-iss ST 3% | gURT A0S
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I T H T9 qd U g1l T 30 Sl Ao i o1 Xg1 Stadd i a1 8! ¥ Fevd =gt U R, 98 o | ekt
3MTeH) & UT T SR SIel, "98 QR Bls 31 I 36T BT1," I B, 98 P U "Piacdwe1?" Sale 31|

I 18 ST g g3l "IaRT B, 9 Wa F HEl, "31d i 310t IRT Srad o oT fremm? g3t 3ot et & off agt
AT T S 3IR U d1eR!" 3[R &1 79 & A a8 Sy & 1Y B8 adb 17| 361 H1Id HReX Hiacde Hl 37d
3ifeH fasm ®id R & 9 ¢ |

Sub questions

Question Number : 53 Question Id : 25498921284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HiACITT DT U
Options :

1. % U Y=t AR

2. % U S

3. % fad Sl R TAT AT
4. & Prs Wt 78

Question Number : 54 Question Id : 25498921285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T H, "§HRT A% Ued e B fbass e uged gang?

Options :

1. # FHawA & fou
2. % EIR o forg

3. U9 It & forg
4. % Tq Afdq & fag

Question Number : 55 Question Id : 25498921286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SIS T 1 T Tl fob 8T A IART o g1 I Blacdea dIg, dag .|
Options :

1.« 3O RIS TR 3 g3l

2. % M R ATYTAihd gl

3. % OgTS &l o ¥ sfydafohd gafl

4. % 3TGH! & Y= I G g3l

Question Number : 56 Question Id : 25498921287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SId 39 UdT 9l fob Jd fdd BfAcde g, i a8 gl i 32
Options :

1. % 3o for e sk aofdd H1 g 1 e &

2. % Tqfore fos sga It s ga aafaa & s frey s 3gt &

3.« ST fob ITDT U 31d 3D Bl HTH a1 ST

4. % ST Fifds ITDT Jd IRR T BT dred | AT

Question Number : 57 Question Id : 25498921288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

9 T G D A1 fadhed i faT T o &1 T8 & 9 ol 781
1§ 3@ & S I B e Heqd g5 i

Options :

1. % g & 91 U7 T Plg SUINT T8l &

2. % TG & 1 U TRId 3HTeH &I f Had Th a1 gt firadt 8
3. % T SHRT 3R TR & i 3R e pRet §

4.« Had R g Wil o ora §

QUANTITATIVE APTITUDE
Section Id : 2549897883
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897924
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the sum of first 15 terms of the Arithmetic series 3, 7, 11, 15, .......
Options :
1. ¥ 412
2. % 440
3. % 465
4. ¥ 488

Question Number : 58 Question Id : 25498928864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SISO Y@ 3, 7, 11, 15, ... B UGA 15 TG BT INT 1A Hiforg|
Options :
1. * 412
2. % 440
3.« 465
4. & 488

Question Number : 59 Question Id : 25498928919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Whart approximate value will come in place of question mark (7) in the following question?

(¥ ou are not expectad to calculate the exact valne. )

VEABT ¥ 41245 —+/6H9 =7+ 13
Options :
1. * 840
2. %910
3. % 1320
4. %1120

Question Number : 59 Question Id : 25498928919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fratafam ma & mom fBFe (7) & TS 97 FETNET FIT AT ATUSN? (3T9e T AT ST IO ale
T HFITFAT o 51)

V5687 X 4/1245+ yhB9 =7+ 13
Options :

= 840

2. & 910
3. 1320

4. % 1120

Question Number : 60 Question Id : 25498928935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following?

? % of 800 =293 - 22% of 750
Options :

1. % 14

2. %18

3. %12

4. %16

Question Number : 60 Question Id : 25498928935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frgfoiad 7 gy g (7) & RIF R &1 31 91w

800 DT 2% =293 - 750 BT 22%
Options :

1. ¥ 14

2. %18
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3.% 12
4. %16

Question Number : 61 Question Id : 25498929112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Aman is a cricketer and his average score in ten matches is 40. If his average score in the first five matches is 45, then what is his average
score in the last five matches?

Options :
1. # 38
2. % 37
3. %36
4. % 35

Question Number : 61 Question Id : 25498929112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3T U fopper & iR T ATl § I 3NTd WHR 40 7| IS Ugd Uie T # ITHT 3NTd WHR 45 ®, dl Sifad uig 3= 7 ST
3d TR 182

Options :

1. %38

2. 37

3. ® 36

4. %35

Question Number : 62 Question Id : 25498929428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If S, is the sum of the first n terms of an arithmetic progression and Sg = 72, then the sum of its 27 4th and 9 terms is:
Options :

1. ¥ 20

2. % 24

3. %30

4. % 36

Question Number : 62 Question Id : 25498929428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

aig S, TH Sl & Ugel n USRI AN & AR 5, = 72 &, o 20d 23, a9 33N od wdi = @ w7 |

Options :
% 20

) o 24

3. % 30
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Question Number : 63 Question Id : 25498929446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The entry fee to an exhibition was reduced by 25%, which increased the sale by 20%. The percentage increase in the number of visitors

was :

Options :
1. * 40%
2. % 55%
3. % 60%
4. % 80%

Question Number : 63 Question Id : 25498929446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TP UG & Ua=T Yo 25% HH DR a1 T, o faeht 20% 9 T3 | SWIID! (Visitors) 1 WA H fora- Ufa=d &1 3fa g32

Options :
1. * 40%
2. % 55%
3. % 60%
4. & 80%

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Display Number Panel :
Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549897884
4

Online
Mandatory

2549897925
Yes

Question Number : 64 Question Id : 25498910064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following words will come second if all of them are arranged alphabetically as in a dictionary?

Options :

1. * Tennis
2. % Tendon
3. %" Tender

4. % Tempest
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Question Number : 64 Question Id : 25498910064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

faeren 7 foU TTU Wsal ! afe SIS Weadh R & TR JUTHH B afyd fasar Je, df 9 & @ &1 1 Weg gk /M W)
STUIT?

Options :

1. ¥ Tennis

2. % Tendon

3. %" Tender

4. % Tempest

Question Number : 65 Question Id : 25498910152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Entrepreneur : Profit :: Scholar : ?
Options :

1. * Income

2. % Knowledge

3. * Service

4. % Business

Question Number : 65 Question Id : 25498910152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

39 fadhed &1 999 o3 ot TRR Teg I I UHR Taiferd g S ORI Ueg U Weg § I ]
ST A = fagm 2

Options :
1= 3
2. % 3
3. % a
4. % UR

Question Number : 66 Question Id : 25498919025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain way.

Dozen, Score, Decade
Options :

1.« Century

2. % Number

3. % Measurement

4. % Counting

Question Number : 66 Question Id : 25498919025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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fameal & I I Weg &1 I9- B ol U I8 aeidh o AU 7Y Xl & Tg & THH ¢ |
goi, R, TRH

Options :

1.+ RTdTsal
2. & g=

3. % HY

4. % el

Question Number : 67 Question Id : 25498919616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate description about the given set of words.

Kanha : Periyar : Dachigam
Options :

1. #® These are famous lagoons.

2. % These are hill stations.

3. % These are animal sanctuaries.

4. ® These are mountain peaks.

Question Number : 67 Question Id : 25498919616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U 7T W1sat & T & IR H Fo8 IUYI IR0 BT 9T B |
HIgl: URIR: T

Options :

1. ® it ufrg it ©

2. % gt vETt R B

3. ' O gt geig 3ngRUg §
4. % 3 qft uda Aifeai g1

Question Number : 68 Question Id : 25498939756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'"THEREFORE!' is related to " TEEOERFRH' in the same way as 'HELICOPTER' is related to ' "

Options :

1. ¥ HELICORETP

2. % HLCPERTOIE

3. # RETPOCILEH

4. % RETPOCILHE

Question Number : 68 Question Id : 25498939756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THEREFORE, TEEOERFRH 3 34! UHR ¥ Tefdd 8, fSRF YR HELICOPTER, GESEIERES
Options :
|. ® HELICORETP
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2. %" HLCPERTOIE
3. = RETPOCILEH
4. % RETPOCILHE

Question Number : 69 Question Id : 25498940047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the word-pair in which the two words share a different relationship from that shared by the two words in the rest of the word-pairs.
Options :

1. * Avesta : Parsi

2. % Torah : Jew

3. % Tripitaka : Buddhist

4. %" Temple : Hindu

Question Number : 69 Question Id : 25498940047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3 Xea-gr H1 I9- HY oI &l Weg WY Neg-oNfedl § &) Wsq! gRT A fort 71U Tafey & A Taes I1i v § |

Options :

1. % 3%l : ORE
2.w?ﬁ?‘|—6':q§fﬁ

3. % Biftes  Sgyd
4. Jﬁﬁ:%@

GENERAL AWARENESS
Section Id : 2549897885
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897926
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kudremukh hills, known for iron ore deposits, is situated in:

Options :

1. % Chikmagalur
2. % Mangalore
3. * Satara

4. % Belgaum
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Question Number : 70 Question Id : 2549895329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e 3R HeR & o8 Uit Hoa ueifeal Fel R fRya 82
Options :

1. « P HTeR

2. % TEAR

3. % JIarT

4. % SAH

Question Number : 71 Question Id : 2549899665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Gold mines in India are located mainly at:

Options :

1. % Kolar

2. ¥ Raniganj

3. * Jadugoda

4. ¥ Veeranam

Question Number : 71 Question Id : 2549899665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

YRAAGH ST EE, g A fR@g|
Options :

1. % PIAR

2. % NS

3. % SIgiel

4. % MY

Question Number : 72 Question Id : 25498912801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Who amongst the following is the highest wicket taker in the history of cricket as of October 2021? (Both ODI and Test Cricket)
Options :

1. * Wasim Akram

2. % Anil Kumble

3. ¥ Stephen Fleming

4. %" Muttiah Muralitharan

Question Number : 72 Question Id : 25498912801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3fAEER 2021 TP fopahe & Sfaer A Fuffed & @ o Ta¥ 3iftie fade o ara Tigars 82 (@7 3R ¢ fohare gl

Options :

1. % I 3fhH
2. % A paad
3. # W gl
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4. « TV qRAERA

Question Number : 73 Question Id : 25498922846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following has the scientific name Pheretima posthuma?

Options :

1. ¥ Leech

2. % Nereis

3. % Earthworm

4. % Tapeworm

Question Number : 73 Question Id : 25498922846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

pfedr tﬁw (Pheretima posthuma), fafafad & Q foy e &1 agfe 9m %?
Options :

IEAIE]
2. & ARg
3. &/ g3
4. % BIaT iy

Question Number : 74 Question Id : 25498933645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which amendment of the Constitution of India provides constitutional status to the Panchayati Raj institution?

Options :

1. ® 715t Amendment

2. % 73" Amendment

3. % 77" Amendment

4. % 79 Amendment

Question Number : 74 Question Id : 25498933645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HRA P JIIYTT BT DI T T T Il TRIT 1 HAUTD Golf TG Bl 82
Options :

1. % 71 9 9=neq

2.« 73 9 RNYH

3. ® 77 g GnY

4. ® 79 i gRNYF

Question Number : 75 Question Id : 25498935418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The excess of price that a person is to pay rather than forego the consumption of a commodity is called

Options :

1. * price
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2. ¥ profit
3. % producer’s surplus

4. % consumer’s surplus

Question Number : 75 Question Id : 25498935418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

foreft ag &) Wud AT & SO AR GRT YT B o arelt sifafed e Fafeiad & @ o seard 82

Options :

1. % DiAd

2. % dH

3. & JATGH 3R

4. ® JOHTET SRR

English Mock
Group Number : 2
Group Id : 2549894964
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
English Mock
Section Id : 2549897886
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897927
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 76 Question Id : 25498941117 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted
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Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes
Allow Back Space : Yes

Show Back Space Count : Yes

English Actual
Group Number : 3
Group Id : 2549894965
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0

English Typing Test

Section Id : 2549897887
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897928
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 77 Question Id : 25498941466 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

There is a consensus of expert opinion that cricket may have been invented during Saxon or Norman times by children living in
the Weald. It is an area of dense woodlands and clearings in south England. The first reference to cricket being played as an adult
sport was in early sixteenth century. In the same year a dictionary defined cricket as a game. There is also the thought that
cricket may have derived from bowls. It was an intervention of a batsman trying to stop the ball from reaching its target by
hitting it away. Village cricket had developed by the middle of the seventeenth century. The first English county teams were
formed in the second half of the same century. The local experts from village cricket were employed as the earliest professionals.
The first known game in which the teams use county names was played in the first decade of the seventeenth century. In the first
half of the eighteenth century cricket established itself as a leading sport in London and its nearby counties. Its spread was
limited by the constraints of travel. Still it was slowly gaining popularity in all the other parts of England. The first laws of
cricket were written in the middle of the seventeenth century. In the last quarter of seventeenth century these laws were
amended. The two prime changes being the addition of the third stump and defining the maximum bat width. The codes were
drawn up by the Star and Garter Club. The members of this club ultimately founded the famous Marylebone Cricket Club.
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Marylebone Cricket Club immediately became the custodian of the laws and has made revisions ever since then to the current
day. Cricket was introduced to North America via the English colonies as early as the seventeenth century. In the eighteenth
century it arrived in other parts of the globe. It was introduced to the West Indies by colonists and to India by British East India
Company mariners. It arrived in Australia almost as soon as colonisation began and the sport reached New Zealand and South
Africa in the early years of the nineteenth century. The development of the railway network also helped the spread of cricket as
teams from a long distance apart could play one other without a time consuming journey. Now even the spectators could travel
longer distances to matches. This resulted in increasing the size of crowds. The overarm bowling was leaglised in the seventh
decade of eighteenth century. It also marked a notable first with the publication of the first Wisden Almanack. This continues to
this day. In the same year Grace began his long and influential career. He contributed greatly in increasing the popularity of the
cricket. The first every international cricket game was played between the United State and Canada. This game was played in the
middle of the eighteenth century. Six year after the first English team toured Australia a team of Australian aborigines toured
England. The first test matched were played at the start of the last quarter of the nineteenth century. The following year
Australians toured England for the first time and the success of this tour ensured a popular demand for similar ventures in
future. The Australian victory in a tense finish gave rise to The Ashes series.

Restricted/ Unrestricted : Unrestricted
Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes
Allow Back Space : Yes

Show Back Space Count : Yes

Hindi Mock
Group Number : 4
Group Id : 2549894966
Group Maximum Duration : 10
Group Minimum Duration : 10
Show Attended Group? : No
Edit Attended Group? : No
Break time : 5
Mandatory Break time : Yes
Group Marks : 0

Hindi Mock
Section Id : 2549897888
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897929
Question Shuffling Allowed : No
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Question Number : 78 Question Id : 25498944390 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

TP TR &1 914 8, PR 3R IRTd RPR R o138 A1 3 $© THy ot 3= ue 3vvr fewan | siegamit A R fRrerad gu
JPHER U BTY WX °UTT T 9T1 3Ad TATd $B WA A Bl APHaR Igd g A AT 3R T & 2ff

Restricted/ Unrestricted : Unrestricted

Paragraph Display : Yes

Keyboard Layout : Remington

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes
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Hindi Actual
Group Number : 5
Group Id : 2549894967
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 0

Hindi Typing Test

Section Id : 2549897889
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897930
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 79 Question Id : 25498945133 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

U AR AT $d B Tl PR 31 & TP w33t Y1 AU g1 g aa i serma fr ol s o W awd g at
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